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Recruitment resource strategies – Past exam paper 


REC Level 5 Diploma in Recruitment Leadership
RECTC 5-3 Recruitment Resource Strategies
Past exam paper
Time allowed:  90 minutes
70 marks

· Students are required to answer all questions

· Marks allocated to each unit and question are clearly shown

· Where appropriate bullet points can be accepted

· Do not penalise students for grammatical/spelling errors

· Annotate the MS where additional, relevant answers are given by students

· Mark in red ink

· Ring totals for each of the questions and transfer to front cover

· Indicate you have seen each and every page by marking in red ink

· Do not add personal comments about student performance

· Alert REC to any suspicion of collusion, dyslexia or other problems

· Keep an independent record of student marks in case of mislaid scripts

· Alert REC to any comments, notes etc., in script from student
You receive a call from Carol Treggoran who you placed into a senior management role with Barchester Agricultural IT (BAIT) two years ago. She has just been promoted to the board as Director and General Manager. Barchester, a rapidly growing company specialising in pioneering technology and production solutions for the agricultural sector, has its corporate headquarters in Saint-Nazaire, France. The main UK site is located at the Anbridge Technology Park near Newport, South Wales, and close to the M4 corridor.  There are excellent road, rail and air facilities, good schooling, as well as plenty of high quality, attractively priced residential housing.
Carol says:
“Help! I need somebody. We must meet up with you on site as something urgent has just cropped up.”
The following day, you arrive on site and Carol shows you round the world-class agro-engineering facilities at BAIT.  She tells you that last year, the company received the top industry award of the ‘Tracteur d'Or’ for an unprecedented third year in a row.  You also learn that BAIT has forged close links with several universities in Wales, the South West and most recently with the École Nationale Supérieure Agronomique de Dijon, in France.
The appointment she wants to discuss is a result of the sudden departure of her IT Development Manager, Richard Starkey, who has joined the Norwegian Timber Technologies Group in Oslo as Software Director.

1. You start to discuss the detail of the role, but first Carol tells you that she has been authorised to review the structure of BAIT. You suggest she may look at a ‘Shamrock organisation’ as a potential business model for BAIT

a) Explain what is meant by the term ‘Shamrock organisation’















(3 marks)

Award up to 3 marks for an appropriate explanation the model breaks the overall structure down into three key areas consisting of:

A
Core workers (strategists with a knowledge of core processes, managers


(1 mark)


technical specialists and technicians)
B
Outsourced element includes contractors providing non-core activities who are 

(1 mark)


employees of the organisation (eg IT, training, marketing, franchising)
C
Flexible labour, including those on consultancy projects (part time, temporary 

(1 mark)


and contract staff)

R
Accept any reasonable explanation of the Shamrock model




(1 mark)

(AC: 1.1)

b) You suggest that your recruitment consultancy could make a significant contribution to the BAIT human resource plan, including help with developing the Shamrock structure.  Give two ways in which having a clear HR Plan will benefit BAIT.












(6 marks)
Award up to 2 marks for each of three benefits for BAIT, such as:

A
Developing alternative job patterns offers a more responsible and flexible 


(2 marks)


approach
B
The HR Plan facilitates an environment where BAIT can operate with a 


(2 marks)


multi-talented and flexible workforce
C
The HR Plan will provide the basis for decisions to employ/redeploy staff, train or  

 (2 marks)


re-skill staff to act as a catalyst for downsizing and redundancies

D
Allows for longer term assessment of recruitment requirements which can be

 
(2 marks)


considered and factored in at the start of the planning process

E
Should allow BAIT to identify resource or skills deficiencies/surplus



(2 marks)
F
Allows BAIT to determine and build a comprehensive resource strategy


(2 marks)

R
Accept any reasonable explanation of the benefits of having a clear HR plan


(2 marks)

(AC:  1.1, 1.2, 1.5)

c) Carol agrees that it would be sensible to undertake a job analysis. Other than interviewing her as the line manager, briefly describe one appropriate method of job analysis that you may be able to use in this specific situation.












(3 marks)

Award 1 mark for the method and up to 2 further marks for the description:

A
Use of work logs









 (1 mark)

AA
Check logs (if available) of tasks undertaken, telephone calls made and received

(2 marks)


This can provide a complete record of the actual job content and can be


invaluable. May have been compiled on a daily, weekly or monthly basis
B
Review of organisational documents






(1 mark)

BB
This is a desk based exercise that can gain and extract information to build a


(2 marks)


picture of the work that needs to be done. Documents may include the job

description and person specification, organisation charts, appraisals, hr records,


work study data, information from job evaluations, the business plan, strategic


plans and career plans scheme etc.

R 
Accept any reasonable, practical method that is relevant in this scenario


(2 marks)

(NB No marks to be awarded for interviewing current job holder as he is no longer with BAIT)
(AC:  1.3)
d) For the method selected in part c) above, identify one practical problem for you as an external third party.













(2 marks)

Award up to 2 marks for a description of the possible problems of using the method given in part I (NB no marks to be awarded if the method given is not relevant):

A
Work logs – may be difficult to retrieve for reasons of confidentiality
. The quality

(2 marks)

of the information is dependent upon the logs themselves and the diligence in

their completion

B
Organisation Documents – jobs change and evolve rapidly, with duties, 


(2 marks)

responsibilities, accountabilities and so on moving on as technology, individuals

and other factors develop.  This may not always be relevant in documentation.

R
Accept any reasonable answer







(2 marks)

(AC:  1.3)

2. Fortunately, Carol gives you a summary of the job, but you need to get a more complete idea of what is involved.
a) Carole tells you that the candidates should have “intermediate level IT development skills”.  Explain what is wrong with Carol’s comment and give two scripted examples of questions you would expect to ask about the skills needed by the IT Development Manager.













(5 marks)

Award 1 mark for identifying the comment as vague and a further 2 marks for each of two relevant questions about the skills required:

A
The comment is vague and unclear in terms of the skill level that is sought


(1 mark)

B
“What are the key skills necessary for success in the job?”




(2 marks)

C
“How can these skills be identified and measured during the selection process?”

(2 marks)

R
Accept any reasonable example







(2 marks)

(AC:  1.4)

b) Carol then tells you:


“I need to have someone who is dependable, supportive and determined.  They should be self-confident with good interpersonal skills. They have to take the lead. They must be analytical and understand our customers’ requirements”.

Using your knowledge of the research undertaken by Gaucher and Friesen, which of the underlined words would you associate with male specific stereotypes?













(4 marks)

Award 1 mark for each male specific stereotypical words used by Carol:
A
Determined









(1 mark)

B
Self-confident









(1 mark)

C
Lead










(1 mark)

D
Analytical









(1 mark)

(AC:  1.4)
4. You know that there is not a specialist HR practitioner working at BAIT, so it does not come as a great surprise when Carol asks for your advice on developing the recruitment resource strategy as in addition to handling the IT Development Manager assignment.

a) Other than human resource planning, the Employee Value Proposition and the Employee Brand, give three of the core components of strategic resourcing identified by Michael Armstrong in his Handbook of Human Resource Management Practice.













(3 marks)

Award 1 mark for each of three from the following, core components of strategic resourcing:

A
Resourcing strategy (internal & external)






(1 mark)

B
Retention









(1 mark)

C
Flexibility in human resource







(1 mark)

D
Talent management








(1 mark)

(AC 2.1)
b) You quickly realise that there is a much work to do.  You need to concentrate on the immediate assignment to fill the IT Development Manager role.  You start to put together the job description.

Briefly explain the three components of job design that, according to Humphrey, Nahrgang and Morgeson, are likely to influence potential candidates.












(6 marks)

Award 1 mark for identifying each of the three components and a further 1 mark for the description of each:

A
Job motivators









(1 mark)

AA
Skill, variety, autonomy etc







(1 mark)

B
Social Components








(1 mark)

BB
Interdependence, feedback, support network





(1 mark)

C
Work context









(1 mark)

CC
Physical demands








(1 mark)

(AC:  3.1)

4.
Carol had made a note of your reference to the Employee Value Proposition (EVP) and is keen to know more.

a) Briefly explain what is meant by the term ‘Employee Value Proposition’.












(2 marks)

Award up to 2 marks for an appropriate explanation, along the lines of:

A
EVP is an overarching set of associations and contributions provided by a 


(2 marks)

company, based on their culture and core values

B
It is an employee centred approach that differentiates the company from its

 
(2 marks)

competitors

R
Accept any reasonable explanation of the EVP





(2 marks)
(AC:  3.2)

b) You tell Carol that you will need to analyse what BAIT can offer in terms of the EVP.  She says she is comfortable with this.


Give three practical points that you could analyse in order to determine the EVP at BAIT.













(3 marks)
Award 1 mark for each of three from the following:

A
The work location at Anbridge Technology Park, near Newport



(1 mark)

B
BAIT’s reputation as a company





 

(1 mark)

C
BAIT’s reputation as an employer







(1 mark)

D
The current working environment







(1 mark)

E
What career opportunities exist at BAIT






(1 mark)

F
What are the opportunities for development within BAIT




(1 mark)

G
BAIT Employment terms and conditions






(1 mark)

R
Accept any reasonable answer







(1 mark)

(AC: 3.2)

c) Carol nods approvingly and understands that this work will lead to the creation of the employer brand for BAIT.


Outline two ways in which an understanding of the BAIT employer brand is likely to assist you as a recruitment consultant.













(6 marks)

Award up to 2 marks for each of three from the following:

A
Can be taken into account in deciding what should be offered and how it


(2 marks)


should be offered

B
Helps you understand the features of the brand that affect potential recruits
‘ 

(2 marks)


perception of BAIT as a great place to work (eg the way they are treated,


opportunities, work-life balance

C
Provides you, as a recruiter, with a set of attributes and qualities that make BAIT

(2 marks)


distinctive ….

D
Allows you to communicate the promise of a particular employment experience 

(2 marks)


(e.g. great company, great culture, great leader)
R
Accept any reasonable answer that explains the benefit of the Employer Brand

(2 marks)


to you as the recruiter (rather than the benefits to BAIT)
(AC: 3.2)

d) Carol tells you that, the market place for BAIT is vibrant and that she anticipates adopting an aggressive approach to candidate attraction and selection.  As a recruitment leader, of course, you must be prepared for changing circumstances and uncertainty.


Briefly explain how you would adapt your recruitment activities if the economy was weak, with high unemployment levels.













(4 marks)
Award up to 2 marks for each of two relevant answers such as the following:

A
recruiters will need to focus their efforts on bringing the volume down, through

(2 marks)


encouraging applicants to de-select themselves …..

B
… screening out volume applications and focussing more on the strategic fit of

(2 marks)


applicants

C
Need to make use of the EVP to overcome possible candidate reluctance to leave

(2 marks)


what they perceive to be secure employment

R
Accept any reasonable answer







(2 marks)

(AC: 3.3)

5.
Carol returns to the IT Development Manager position that she needs to fill.  She is keen to learn your recommendations on the best method to find and attract candidates.
a) In terms of planning the campaign, give three questions you should ask when choosing the media.












(6 marks)
Award up to 2 marks for each question given to a maximum of 6 marks:

A
What channel will most effectively reach the required candidate base?


(2 marks)

B
Will the use of social media and networks be appropriate?




(2 marks)

C
What level of response are we looking for?






(2 marks)

D
What if there is no response / too much response?





(2 marks)

E
What image do we want the brand to project?





(2 marks)

F
What market coverage do we need?






(2 marks)

G
What will the circulation of the advert be?






(2 marks)

H
Is headhunting (Executive Search) an option for the role




(2 marks)

R
Accept other reasonable answer







(2 marks)

(AC:  2.2)
b) Carol is clearly keen to develop more of an online presence for BAIT and starts to quiz you about the KPIs that she could use to determine the effectiveness of social media activities when recruiting.


Give two examples of KPIs that you could use to review the effectiveness of your social media activities.












(4 marks)

Award up to 2 marks for each of two from the following:

A
Number of unique visitors/number of new candidate registrations

 

(2 marks)

B
Unique users / number of new general registrations + applications



(2 marks)

C
Number of retweets & Refer a Friend / applications





(2 marks)

R
Accept other reasonable answer







(2 marks)

(AC: 2.3)

6.
Carol is impressed by your comprehensive use of KPIs metrics.

a) She asks you how you would evaluate the success of the recruitment assignment for the IT Development Manager once the appointment has been made.

Thinking in terms of the candidate, give three indicators of success that you could use.













(3 marks)

Award 1 mark for each of three indicators of success from the following:

A
Feedback on job satisfaction for the appointed candidate




 (1 mark)

B
Subsequent promotion of the appointed candidate





(1 mark)

C
Career development








(1 mark)

D
Word of mouth and referrals by the appointed candidate




(1 mark)

R
Accept other reasonable answer







(2 marks)

(AC: 4.1)

b) You take the full brief for the IT Development Manager from Carol and you are confident that you can produce a cost effective resourcing strategy for BAIT.  Just as you are about to leave, Carol asks you about the follow-up actions you would take after the assignment has concluded.


Give three ways in which the follow-up programme will be of help to you or to BAIT.













(3 marks)

Award 1 mark for each of three from the following:

A
Determines the effectiveness of your recruitment activities




 (1 mark)

B
Identifies any problems during the recruitment process




(1 mark)

C
Establishes any problems that have developed post-recruitment



(1 mark)

D
Ensures appointee is meeting role objectives within the required timescale


(1 mark)

E
Helps define / reveal any potential retention problems




(1 mark)

F
Allows for a review of performance against built-in contractual obligations


(1 mark)

R
Accept other reasonable answer







(1 mark)

(AC: 4.2)
c) As you get back to your desk, you start to think in terms of passive and active candidates for the role.  You are aware of a number of active job seekers who you believe will be appropriate.


You know that active job seekers will be looking for new opportunities for a number of reasons.  Give three of these.













(3 marks)

Award 1 mark for each of three from the following:

A
Remuneration









 (1 mark)

B
Progression and development







(1 mark)

C
Stability










(1 mark)

D
Redundancy









(1 mark)

R
Accept other reasonable answer







(1 mark)

(AC: 3.1)
d) You soon realise that the candidates you thought would be relevant are not of the right calibre for the role and you consider using social media as a source for passive candidates.


Why might this approach prove to be effective for the IT Development Manager assignment?













(4 marks)
Award up to 2 marks for each of three from the following:

A
Passive candidates are currently employed and who are not actively seeking


(2 marks)


a job change

B
Represents an untapped pool of talent that is unlikely to be looking at other


(2 marks)


Positions

C
Social media has, in recent years, been seen as an excellent source for 


(2 marks)


targeting passive candidates

R
Accept other reasonable answer







(2 marks)

(AC: 3.1)

(Total: 70 marks)

END OF QUESTIONS
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